
February 20,2013 

Jeff' Derouen 
Executive Director 
Public Service Commission 
PO Box 6 15 
Frankfort, Kentucky 40602-061 5 

PUBLIC SERVICE 
COMMISSION 

Dear Mr. Derouen: 

Enclosed please find our application for revised rates in accordance with 
purchased gas cost adjustment requirements report. Also, I have include copies of the 
Annual Report & Report of Gross Operating Revenues. 

We would like for the adjustment to become effective in April 1,20 13. 
If additional information is needed, please advise. 

Your assistance is appreciated. 

Yours truly, 

VALLEY GAS, INC. 

kerry R Kasey 
Secretary 



SCHEDULE I 

GAS COST RECOVERY RATE SUMMARY 

Component 

Expected Gas Cost (EGC) 
Refund Adjustment (RA) 
Actual Adjustment (AA) 

Unit Amount 

$/Mcf $4.4666 
$/Mcf $0.0000 
$/Mcf ($1 5098) 

Balance Adjustment (BA) $/Mcf $0.0000 
Gas Cost Recovery Rate (GCR) $/Mcf $2.9568 

Rates to be effective for service rendered from 

Proposed 

A. EXPECTED GAS COST CALCULATION Unit Amount 

Total Expected Gas Cost (Sch 11)  $/Mcf $173,910.14 
/Sales for the 12 months ended $/Mcf 38,936.00 
Expected Gas Cost $/Mcf $4.4666 

B. REFUND ADJUSTMENT CALCULATION Unit Amount 

Supplier Refund Adjustment for Reporting Period (Sch Ill) $/Mcf $0.0000 
+Previous Quarter Supplier Refund Adjustment 

=Refund Adjustment (RA) $ Mcf $0.0000 

C. ACTUAL ADJUSTMENT CALCULATION Unit Amount 

Actual Adjustment for the Reporting Period (Sch IV) $/Mcf $0.2379 
+Previous Quarter Reported Actual Adjustment $/Mcf $0.0306 
+Second Previous Quarter Reported Actual Adjustment $/Mcf ($0.1607) 

=Actual Adjustment (AA) $ Mcf ($1 5098) 

D. BALANCE ADJUSTMENT CALCULATION Unit Amount 

Balance Adjustment for the Reporting Period (Sch V) $/Mcf $0.0000 
+Previous Quarter Reported Balance Adjustment 

=Balance Adjustment (BA) $ Mcf $0.0000 
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